To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

8 13|7]4 T2

1 3 9 5
7111234

219 8 118 |7

1 7

4 17 5]1 6

7 8 5|46 |1

5 9 |4 2183
4 18|62

Fold on this Line.

813|7]4|5|9]6]|1]|2
21114136 |8]9|7]|5
915/6|7(1/2]3]4]8
6129|158 |4]|1]|3]|7
118|132 |7 |6)2|8 |4
4 17]/5]11(9(3]8]|2]|6
71912183 |5]4|6 |1
5 61184 |7]|2|8|3
3/4(8|6(2(1]7|5]|9
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

418 5

5 1171612
2171489 3
1 8 315
319 8 5 2

2|57 3148

6|25 3

319162417

9 3|7 2
Fold on this Line.

418|6|13(5|2]9]|7 |1
95/3|1|7|6]2|8]|4
211]7]14(8/9]6]5]3
11718]2|4|3]15|9|6
3194|186 |5]|1]2]|7
612[(5]7(9(1]3]|4]8
/7162]5(1|8]4]|3]|9
8 3(8|6(2 (4|7 |15
5/4(1]9(3|7]8|6]|2
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

719 513 8

3 6|8 1
815 71119

2 8|7 6
6 4 8 3
51417 21119

91 7|4 5

4 118|236 |2

5 3 4 9

Fold on this Line.

719/1]14|5|3]6|2]|8
314/2]6(8|9]|5]|7 |1
618 [5]12(7(1]9]3]4
213/9]5(1|8]|7]|4]|6
1167|898 |4|2)8 |5 |3
8!5/4|7(3|6]2]1]9
911/6]13(2|7]4]|8]|5
417/8]1[(9(5]3]|6]|2
5/2(3|8|6|4]|1|9]|7
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

2 118 514/9|6
9 2 11718
4 1 3
1 4 7|8

6 511 3
5 216 917
8125|914 7
6 5 3|2 9

1 7 54

Fold on this Line.

2|7/1]18|3|5]4]|9]|6
915/3|4(2|6|1]|7]|8
418|6|11(9(7]3]2]5
11914]|3|7|8]5|6|2
7 6|2 (5|1]|8|4|3
5/3[2]6(4(9]7]8]1
8125|191 |4]16|3]|7
6|4 |7]5(8(3]2]1]9
3|1(9]17|6(2]|8|5|4
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

6 115 4138
8 916 |1
7143 6 519

916 |15 413
1 412
3 9 |2
3 119 |8
96 |2 514137 |1
3|18 7

Fold on this Line.

69(1]|5|7|2]4|3]|8
218|514 (3|9]|6]|1]|7
/14/3]1(8|/6]2]|5]9
812|916 |1|5]|7]|4]|3
1174|2938 |6 |5
513|6|7(4/8]1]9]2
415/7]13(2(1]19]|8]|6
96 |2|8(5(4]|3 |7 |1
3|1(819|6(7]|5|2|4
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

2198 4
6 1 4 219

3 6 1
71119123 |6]4|5]|8

4 8 7
8 51916 1

6 713 2|8
8 118 |3
3|1]8 716 |4

Fold on this Line.

11712]9|8|3]|5(4|6
5681741329
419/3|5(6(2]8]1]7
71119123 |6]4|5]|8
3/5/6|4(1(8]9]|7]|2
218 4]17(5/9]6 |3 |1
614|713 (9(1]12]|8]|5
8 | 2[(5]|6(4|7]1]|98 |3
9/3(1]|8(|2|5]|7|6|4
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

719 |4 1 516
218 715
56 [1]3 91278
3 4
5 716 2
8|3 4 |2 1
9 6 3 5
6 54 9
4 1512]|7 3|8 6

Fold on this Line.

719/4]12(1|8]5]|6]|3
2/8|3|6|7|5]1]9]|4
516 [1]13[(4(9]2]|7]8
629|153 |1]4]|8]|7
1 |4|2]|8 |8 |78 |3 |2
813|7]4(2|6]9]|5]1
9|7/8]|1(6|2]3]|4]|5
3/1/6]|8(5(4]7]2]|9
4 15(2]7|9|3]|8|1]|6
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

715 6 3
6|2 813|719 5
8 |1 5 7

6 5 3 4
7|3 1 5 6

’

N
(a]

N
== (=] | (O |00
(8)]
oo
W
(8]

Fold on this Line.

8|7 ([5)4 |6 |1]|8&|3 |2
6124|183 |7]19]|1]5
811[13]19(2|5]6]4]|7
1161859327 |4
/713/9]12(1|4]15]|8]|6
415(2]6(7(8]3]|9]|1
2/8|6|1(4|9]7]|5]|3
5|4 |7]13(8[2]1]6]9
3/19(1]|7|5|6]4|2]|8
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

5/1/9]4 2

2 9 7|8 516
7 6 |2 8 3
418 |2 116

5 6 91
6 3 9128
1 6| 2|8 |3 7T

Fold on this Line.

3/6[7]5(1|9]4]|8]2
854123 |6]|7]|1]9
2111914 (7/8]3]|5]|6
719(1]16|2|5]|8|4]|3
418(2]13(9(1]6]|7 |5
51368 (4(7]12]9]1
6|7(3|1(5(4]19]|2]|8
1141896253 |7
912|5|7|8|3]|1|6|4
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To solve: Fill in the blank spaces so that each row, column and 3x3 all have the
digits 1 through 9.

2|3 8 519
1 912 8
9 6 1 L2
6]2|3|5 1

4 3 8 5
8117 |4 2

1 9 713

3 2115 |6 418

916 8|3 711

Fold on this Line.

21348 |7|1]15]|9]|6
6|1/7]15(9(2]4]|8]|3
81593 (6(4]1]2]|7
719/6]2(3|5]8]|1]4
412/3]6(1|8]7]|5]|9
518 [1]7[4(/9]6]3 ]2
11418927136 |5
3|712]1[(5|6]9]4]8
96 |5|4(8(3]|2|7|1
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